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Answer any Five Questions
All Questions Carry Equal Marks
Ay Hyderabad based MNE wants to sstup.a Power, Plantin a rural, arpaaround 100 kni™. A

peﬁh to- Hyderabad What kind ¢ f_%wer"plant Would be-good? Usu{g SWAT or;51n{11ar :,f‘-:——"g
/ analysis fecommend themi what Kind of poiwer plant they shiould prefer.” ™" [15] ‘

2. Differentiate between: a) Primary and Secondary Sources, b) Renewable and Non-
Renewable Sources, ¢) Conventional and Non-Conventional. [15]

P> Calcu]ate the angle made. by the beam of radiation with, the normal to the-flat collector on...,
JAY e Juhe{1 at 11, 00@1\_@ solar time fo{[_tj\]e location lantt:de 16298N. The eollector is tﬂted at --~'; JAY
N e f”aﬁgle of.Jatitude’ plus. 15%.with hofizontal.and it is pomtmg dae south. - [13] i -

4, Consider a Propeller type wind turbine of 120 m with an operating speed of 40 r.p.m. at its

maximum efficiency. Calculate a) The total power density of the wind stream, b) The
maximum obtainable power density, c¢) The reasonably attainable power density, d) The
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;Th‘e follong data are given for A~ famﬂy bjogas dlgester stjtable for the .oufput of 87 cows,m'_ i F"“
the retention time is 15 days, temperature is 35°C, the dry matter consumed per day is
2.5 Kg and the b1ogas yield is 0.28 m® per Kg. The efficiency of the burner is 65% and
methane proportion is 0.7, and the heat combustion of methane is 28MJ/m’. Calculate the

volume of the biogas digester and the power availability from the digester. [15]

ey - ;he\factors affeetmmthe anaeroblcidlgestlon Name the Vanous modéls of blogas plant [‘1 SJ »«»*

7. A hot water geothermal power plant received waters at 250°C, thie pressure at turbme
inlet is 11.5 kg/cm®. The plant uses a direct contact condenser that operates at 0.35 kg/cm?.
The turbine has a polytropic efficiency of 0.7. For a cycle output of 15 MW calculate the

a) the cycle effi ciency and D) p]ant heat rate. [7+8]
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